4. Exploded Views and Parts List

4-1 Assembly- Body

SAMSUNG ELECTRONICS CO,, LTD



4. Exploded Views and Parts List

- Body Parts List

LocationNo.,  Code No. Description Specification Q'ty | A/IS |Remarks
1 DJ63-00156D | ~~\/ER-MID ASSY ROYAL BLUE+PLATINUM SIL 1 .
DJ63-00156E ROYAL BLUE+REAL AL
1-1 DJ63-00157D ABS+WHT,NTR GRY+PLATINUM SIL(SPRAY)
DI63-00157G | O o DUSTASSY REAL AL,INSERT ! °
1-1-1A | DJ67-00200A | CAP-COVER ABS,DEEP GRY 1
1-1-2A | DJ63-00116C | COVER DUST ABS,CIS WHT,PL ATINUM SIL 1
1-1-B | DJ63-00160A | COVER DUST-SUB SUB GRY,AL INSERT 1
1-1-3 | DJ66-60134A | DAMPER-ASSY ABS+PVC,BLK+BLK 1 o
1-1-4 | DJ63-00117A | COVER DUST-LOW PP,DEEP GRY 1
1-1-5 | 6002-000553 | SCREW-TAPPING PH,+,2S,M4,L12,ZPC(BLK) 4
1-2 DJ64-00153A | HANDLE ASSY SUB GRY 1 °
1-3 DJ70-30141B | SHAFT WHEEL MSWR(ZPC),L73,PI6 1
1-4 DJ61-00274C | BODY MID ASSY ROYAL BLUE,EXPORT 1 L
1-4-1 | DJ64-00143B | BUTTON-C/REEL ABS,CIS WHT,PLATI SIL COATING 1
1-4-2 | DJ61-00079B | SPRING ETC-BUTTON C/REEL | HSWR 1
1-4-3 | DJ61-00218C | BODY MID PP,ROYAL BLUE,EXPORT
1-4-4 | DJ63-00118A | COVER-LED PC 1
1-4-5 | DJ66-00146A | LEVER BRAKE ASSY - 1 °
2 DJ64-00155A | GRILLE BACK ASSY ROYAL BLUE,EXPORT 1 °
21 DJ63-00022E | FILTER OUTLET URETHAN POHM,T3,W68,L158,BLK 1 °
22 DJ64-00142B | GRILLE BACK PP,ROYAL BLUE 1 L
3 DJ41-00070B | PBA MAIN FR1,W67XL139,EXPORT,NON HAMONIC | 1 o
4 DJ72-00287A | BAND BODY-L PVC,SUB GRY 1 °
5 DJ72-00286A | BAND BODY-R PVC,SUB GRY 1 °
6 DJ69-00101A | PACKING-DUST PVC,BLK 1
7 DJ61-00276A | CASE-UP ASSY PP,NTR 1 °
7-1 DJ63-50112A | SPONGE-H/SINK T5,W14,L44 1
7-2 DJ61-00217A | CASE MOTOR-UP PP,NTR 1
8 6003-001050 | SCREW-TAPTITE PH,+,2S,M4,L16,BLK 2
9 DJ73-00004A | CUSHION-MOTOR F VC-7414V,NR FOAM,BLK 1 o
10 DJ31-00007D | MOTOR-FAN AC VCM-K50,60HZ 1 °
11 DJ39-20260K | HARNESS MOTOR UL1569,L.280/L280/L80 1 °
12 DJ63-50138C | SPONGE-MOTOR SPONGE, T6,W65,L.365,BLK 1 L
13 DJ61-00012B | SUPPORT-MOTOR ASSY PP+PVC 1 o
13-1 | DJ61-00006A | SUPPORT-MOTOR PP 1 °
13-2 | DJ73-00008A | CUSHION-RING PVC,T10.5,1D8,0D18,BLK 2
14 DJ61-00286A | CASE-LOW ASSY ASSY 1 d
14-1 | DJ63-00164A | ABSORBER-UP POLY URETHAN PHOM,T3 1
14-2 | DJ61-00216A | CASE MOTOR-LOW PP,NTR 1 °
15 DJ67-00164K | CORD REEL ASSY CP2,4.0,0.75mm?L6100,BLK 1 °
15-1 | DJ39-10004A | POWER CORD 230V,6A,L6100,0.75mm? 1 L
16 DJ63-00115B | GUARD CORD POM,DEEP GRY 1
17 DJ72-00149D | GRILLE FILTER ASSY PP+HEPA,EUTO YELLOW 1 °
17-1 | DJ72-00105B | GRILLE-FRONT PP,EURO YELLOW 1 °
17-3 | DJ63-00029A | FILTER-INSERT PP+GSB-110,14,L.110,W110,WHT 1 L
17-2 | DJ63-40172B | FILTER GRILLE PP+WOOL,T1.5,W105,L105,BLK 1 °
18 DJ61-00417A | CASE-BASKET ASSY ABS,TRP,LIGHT-DUSK/CT-0510 1 °
18-1 | DJ67-00233A | BRUSH-FILTER PP,EURO YEL,BAG FREE 1 °
18-2 | DJ62-00059A | SEAL-CASE NBR50,BLK 1
18-3 | DJ60-00007A | SPACER-CASE PP,ROYAL BLUE 1
18-4 | DJ66-00148A | LEVER-CASE ABS,EURO YEL 1 °
18-5 | DJ61-00386A | BODY-CASE ABS 1 °
18-6 | DJ61-00387A | CASE-SPONGE NYLON,LIGHT BLUE(534C) 1
18-7 | DJ72-00291A | SPONGE-CASE PE-FORM,T20,W80,L145,GRN 1 °
18-8 | DJ64-00206A | GRILLE-CASE ASSY ABS,BLUE °
19 DJ66-00051A | LEVER-SAFETY ASSY ASSY 1 ®

x A/S= e :Service Available

SAMSUNG ELECTRONICS CO., LTD




4. Exploded Views and Parts List

- Body Parts List

LocationNo.,  Code No. Description Specification Q'ty | AIS |Remarks
20 DJ67-00201B | CAP-WHEEL ABS,CIS WHT,PLATI SIL COATING 1 °
21 DJ66-00132B | WHEEL BACK ASSY ROYAL BLUE+SUB GRY 2 °
22 DJ61-00215B | BODY BASE PP,ROYAL BLUE 1 °
23 DJ66-00147A | DAMPER SUCTION NBR,BLK 1 °
24 DJ63-00158A | COVER-FRONT ASSY DEEP GRY 1 °

24-1 | DJ63-00114A | COVER-FRONT ABS,DEEP GRY 1
24-2 | DJ67-30129C | CAP-C/FRONT PP 1
24-3 6002-000630 | SCREW-TAPPING PH,+,M3,L8, XPC(YEL) 1
24-4 | DJ39-20251D | WIRE HARNESS-FRONT UL1007,L410, TEL/IGRY 1
25 DJ34-10102Q | SWITCH PRESSURE 250V,1A,2200MMH20 1 °
26 DJ66-00048B | ROLLER-BACK PP,DARK VIO BLUE 1 °
27 DJ70-30110A | SHAFT-ROLLER B MSWR,L26,0D4 1 °
28 DJ66-70227F | o\ | ER-BACK ASSY PP+PVC,DEEP GRY 1
DJ66-70227G PP+PVC,NTR GRY
0g.q | DI6T-10183A | o o o PP,NTR GRY,DEEP GRY 1 .
DJ67-10193F PP,NTR GRY
282 | DJIB6-70161G | L\ o cooNT ASSY PP+PVC,W15.7,DEEP GRY 1
DJ66-70161H PP+PVC,W15.7,NTR GRY
29 DJ63-00159A | ABSORBER-LOW PILY URETHANE FORM,T5,W150 1

x A/S= e :Service Available

SAMSUNG ELECTRONICS CO,, LTD 8



4. Exploded Views and Parts List

4-2 Assembly-Hose

N 14
~ 3 ‘
|
22—,
|
—1
- Assembly-Hose Parts List
LocationNo.| Code No. Description Specification Q'ty | A/IS |Remarks
1 DJ67-00215D | HOSE-ASSY L1700,DEEP GRY,2WIRE,HANDLE CARRY | 1 °
2 6003-001050 | SCREW-TAPTITE PH,+,2S,M4,116,BLK 2
3 DJ63-00142C | COVER-H/GRIP ABS,DEEP GRY 1
4 DJ67-00206A | CAP H/GRIP ABS,PLATNUM SIL 1
5 DJ64-00150A | KNOB-SLIDE PC 1 °
6 DJ64-00149A | PANEL SLIDE ABS,NTR GRY 1
7 2102-001022 | VR-SLIDE 50KOHM,10%,1/5W, TOP 1
8 DJ61-00256A | BODY H/GRIP ABS,DEEP GRY 1 °
9 DJ39-00035B | WIRE HARNESS-T/CLAMPERUL | CLAMPERUL 1007 #22 1
10 DJ72-00198A | COVER TERMINAL-UP PP 1
11 DJ72-00199A | COVER TERMINAL-LOW PP 1
12 DJ63-00141A | COVER-R/TERMINAL ABS ,DEEP GRY 1 °
13 6002-000534 | SCREW-TAPPING PH,+,2S,M3,L.8,ZPC(BLK) 1
14 DJ67-00161E | HOSE-ASSY SUB L1700,DEEP GRY 1 °
14-1 | DJ62-00054A | SEAL-HOLDER NBR,BLK,T3.6,PI51.5 1
14-2 | DJ71-00009A | TERMINAL-RING C5101P-1/2H,T0.3 2
14-3 | DJ61-00266A | HOLDER-TERMINAL PP(51101SW),NTR 1
14-4 | DJ61-00249A | HOLDER-HOSE ABS,NTR,3WIRE 1
14-5 | DJ67-00231B | CAP-HANDLE ABS,DEEP GRY 1
14-6 | DJ67-00222A | HOSE WIRE PVC,L1700,DEEP GRY 1
14-7 | DJ61-00246A | HOLDER-HOSE C ABS,NTR,2WIRE/INSERT 1
14-8 | DJ64-00093B | CAP-H/CARRY ABS,DEEP GRY 1
14-9 | DJ62-00045A | SEAL-CLAMPER ABS+FOAM,BLK,T1.5 1
14-10 | DJ61-00248A | BODY CLAMPER ABS,DEEP GRY 1 °
14-11 | DJ61-70130A | SPRING ETC-CLAMPER HSWR,PI0.7,L15,L15,D4 1
14-12 | DJ64-10111G | KNOB-CLAMPER ABS,DEEP GRY 1 °
14-13 | DJ63-00145A | COVER-CLAMPER ABS,DEEP GRY 1
14-14 | 6002-000534 | SCREW-TAPPING PH,+,2S,M3,L8,ZPC(BLK) 3
14-15 | DJ71-20105K | PIN-PLUG ASSY C3712BE-F,0D2.3,L90,GRY 1
14-16 | DJ71-20105H | PIN-PLUG ASSY C3712BE-F,0D2.3,L.90,YEL 1

# A/S= @ : Service Available

9

SAMSUNG ELECTRONICS CO., LTD




4. Exploded Views and Parts List

4-3 Assembly-Brush

- Brush Parts List

LocationNo.,  Code No. Description Specification Q'ty | A/S |Remarks
1 DJ67-00212A | BRUSH-TURBO ASSY TURBO BRUSH 1 °
2 DJ61-00161A | HANGER-BRUSH ABS,DEEP GRY 1 °
3 DJ62-00020A | PIPE-C/BRUSH ABS,DEEP GRY 1 °
4 DJ61-20118P | GUIDE-KEY NYLON,DEEP GRY 2 ®
5 DJ67-00211A | FAN-TURBINE ASSY ASSY,TURBO BRUSH 1 °

5-1 DJ61-00264A | NECK BRUSH ABS, TURBO-BRUSH 1
5-2 DJ66-00126A | PULLEY-SHAFT TURBINE TURBO BRUSH,PC 1
5-3 DJ66-00131A | SHAFT-TURBINE SM45C,L114 1
5-4 DJ67-00209A | FAN-TURBINE R TURBO,PP COMPLEX 1
5-5 DJ67-00210A | FAN-TURBINE L TURBO,PP COMPLEX 1
6 DJ64-00152A | WINDOW-BRUSH ASSY ASSY,TURBO 1 °
6-1 DJ61-00265A | FRAME-WINDOW ABS,W38,L242 1
6-2 DJ64-00151A | WINDOW-BRUSH ABS/TRANSPARENT 1
7 DJ61-00262A | GUIDE AIR TURBO BRUSH,ABS 1
8 DJ63-00151A | COVER BRUSH ABS,DEEP GRY 1 °
9 DJ72-00288A | BAND BRUSH LDPE,DEEP GRY 1 °
10 DJ66-00128A | DRUM BRUSH-ASSY ASSY,BLK 1 °
11 DJ61-00267A | FIXER-SHAFT ASSY ASSY,TURBO BRUSH 2 °
12 DJ61-00267B | FIXER-SHAFT ASSY FE+PC,TURBO BRUSH 2 °
13 DJ61-00260A | FIXER-SHAFT TURBO,PC,BEARING 1
14 DJ63-00149A | COVER-BELT TURBO BRUSH,PP 1 °
15 DJ61-00263A | BODY BRUSH ABS,DEEP GRY 1 °
16 DJ66-70100C | ROLLER-BACK ASSY POM+PVC,LIGHT GRY 2 °
17 DJ70-30110A | SHAFT-ROLLER B MSWR,L26,0D4 2
18 DJ66-70163C | ROLLER-FRONT ASSY POM+PVC,LIGHT GRY 2 °
19 DJ70-30111A | SHAFT-ROLLER F MSWR,L20.5,0D4 2
20 DJ67-60118] | BRUSH-NOZZLE ABS+URETHAN,BLK 1 °
21 DJ60-00006A | SPACER-BRUSH B ABS+WOOL,L219.7/L.228.9 1
29 DJ63-00150A | -5\ /ER-AIR TURBO BRUSH,PC 1 .
DJ63-00171A ABS,TURBO BRUSH
23 6002-000553 | SCREW-TAPPING PH,+,2S,M4,L12 4
x A/S= e :Service Available
SAMSUNG ELECTRONICS CO., LTD 10




4. Exploded Views and Parts List

1 [
|
|
|
|
|
|
- Brush Parts List
LocaionNo.|  Code No. Description Specification Q'ty | A/IS |Remarks
1 DJ67-00167C | BRUSH ASSY DEEP GRY,DEEP BLUE,NB400 1 °
2 DJ63-00063C | GUARD-PIPE ASSY PC,TRP/DEEP BLUE,NB400 1 °
2-1 DJ70-50104A | RING-CONNECTOR ASSY MSWR10+STS301 1 °
2-2 DJ72-00213B | GUARD-PIPE PC,DEEP BLU/TRP 1
3 DJ97-00049A | ASSY PIPE C/BRUSH DEEP GRY/NB400/MAGIC 1 °
31 DJ67-00119A | PIPE-C/BRUSH PP,DEEP GRY,SMART BRUSH 1 °
3-2 DJ72-00212A | COVER-NECK ABS,DEEP GRY,SMART BRUSH 1 L
3-3 DJ72-00211A | BODY-NECK ABS,DEEP GRY,SMART BRUSH 1 o
34 6002-000622 | SCREW-TAPPING PH,+,2S,M3,L10 2
4 DJ70-30110A | SHAFT-ROLLER B MSWR,L26,0D4 2
5 DJ66-00078A | ROLLER-BRUSH ASSY ASSY,D18,LIGHT GRY 2
6 DJ61-00139A | HOLDER-ROLLER PP,DEEP GRY 1
7 DJ72-00208A | COVER BRUSH PP,DEEP GRY 1 °
8 DJ61-00106A | HOLDER-NECK ABS,DEEP GRY 2
9 DJ61-00105A | GUIDE AIR ABS,DEEP GRY 1 °
10 DJ67-00173A | CAP-AIR ABS,DEEP GRY 1
11 DJ66-00060A | LEVER-FOOT ABS,DEEP GRY,NB400 1
12 DJ67-00120A | BASE BRUSH ABS,DEEP GRY 1 °
13 DJ61-00158A | HOLDER-BRUSH B SECC1-P+NYLON 1
14 DJ61-00155A | HOLDER-BRUSH SECC1-P+NYLON 1
15 DJ61-70179A | SPRING ETC-BRUSH HSWR 2
16 DJ72-00207A | BODY BRUSH POM,DEEP GRY 1 °
17 6003-001050 | SCREW-TAPTITE PH,+,25,M4,L16,BLK 8
18 DJ63-70117A | SPACER-BRUSH ABS+WOOL,L88,T3,W7.8 2 °

% A/S= e :Service Available

11

SAMSUNG ELECTRONICS CO., LTD




4. Exploded Views and Parts List

1—
\
\
\
\
\
\
\
\
\
|
L I
- Brush Parts List
LocationNo.|  Code No. Description Specification Q'ty | A/IS |Remarks
1 DJ67-00138C | BRUSH ASSY ASSY,DEEP GRY,NB-201 1 °
2 DJ93-10122A | ASSY-PIPE C/BRUSH NB300,DEEP GRY 1 °
2-1 DJ67-50199A | PIPE-C/BRUSH PP,DEEP GRY 1
2-2 DJ61-60115A | NECK-HOLDER PP,DEEP GRY 1
3 DJ66-70223A | WHEEL-BRUSH ASSY PVC+PC,DEEP GRY+BLK 2 °
4 DJ72-30310A | COVER-BRUSH PP,DEEP GRY,J640 1 °
5 DJ66-50150A | LEVER-FOOT ABS,DEEP GRY,HG-0760 1 °
6 DJ67-20161A | BASE-BRUSH ABS,DEEP GRY,HG-0760 1 °
7 DJ67-00058A | BRUSH-NOZZLE URETHAN,BLK,NB300,MOULD 1
8 DJ67-10187A | HOLDER-BRUSH SECC1-P+NYLON,BLK 1 °
9 DJ61-70179A | SPRING-BRUSH HSWR,PI0.8,D14,L.25 BLUING 2
10 DJ72-00179A | BODY BRUSH PP,DEEP GRY,NB200 1 °
11 DJ63-70117A | SPACER-BRUSH ABS+WOOL,T3,W7.8,.88 2 °
12 6003-001050 | SCREW-TAPTITE PH,+,25,M4,L16,BLK, SWRCH18 4

x A/S= e :Service Available

SAMSUNG ELECTRONICS CO., LTD

12




4. Exploded Views and Parts List

1 N
|
|

|

|
|
|

- Brush Parts List
LocationNo., Code No. Description Specification Q'ty | A/S |Remarks
1 DJ67-00216A | BRUSH ASSY ASSY,DEEP GRY,WIDE/EXPORT 1 °
2 DJ97-00064A | ASSY PIPE C/BRUSH WIDE-BRUSH/EXPORT 1 °

2-1 DJ62-00043A | PIPE-C/BRUSH ABS,DEEP GRY 1
2-2 DJ61-00138A | HOLDER-CONNECTOR POM,NTR,D49,SLIM MAGIC 1
3 DJ63-00091E | COVER-HOLDER ABS,PARQUET 1
4 DJ63-00090C | COVER BRUSH ABS,PARQUET 1
5 DJ72-00284B | BAND BRUSH PE,DEEP GRY,WI 1
6 DJ61-00186B | BODY BRUSH ABS,DEEP GRY 1
7 DJ61-00187B | HOLDER-SPACER PP,DEEP GRY 1
8 DJ67-00083A | BRUSH-SHUTTER URETHAN,NTR 2
9 DJ63-70117A | SPACER-BRUSH ABS+WOOL,L88,T3,W7.8 1
10 DJ66-00078A | ROLLER-BRUSH ASSY D18,LIGHT GRY 4
11 DJ66-00103A | SHAFT-ROLLER B NYLON,L26,0D4 4
12 6002-000553 | SCREW-TAPPING PH,+,2S,M4,1L12,ZPC(BLK) 8

% A/S= e :Service Available

13

SAMSUNG ELECTRONICS CO., LTD




4. Exploded Views and Parts List

4-4 Assembly-Pipe

- Pipe Parts List

LocationNo.,  Code No. Description Specification Q'ty | A/S |Remarks
1 DJ62-00082B | PIPE-T/STEEL ASSY STEEL,ID33,0D34,L890,BUCKLE TYPE 1 °
x A/S= e :Service Available
4-5 Assembly-Cyclone
- Cyclone Parts List
LocationNo., Code No. Description Specification Q'ty | A/S |Remarks
1 DJ61-00445A | CASE-CYCLONE ASSY DEEP GRY,BUCKLE-TYPE 1 °
2 DJ61-00385A | CASE-CYCLONE PC,NTR 1 ®
3 DJ62-00084A | SEAL-CYCLONE PVC,BUCKLE TYPE 1
4 DJ61-00446A | HOLDER-SEAL ABS,DEEP GRY,BUCKLE TYPE 1
5 6002-000553 | SCREW-TAPPING PH,+,2S,M4,L12 3
6 DJ61-00436A | CASE-CYCLONE LOW ABS,DEEP GRY 1
7 DJ61-00031A | SPRING ETC-PLATE SUS,W6.4,1.31,T0.3 1
8 DJ64-00219A | GRILLE-CYCLONE LOW ABS,ROYAL BLUE,MESH 1
9 DJ64-00220A | GRILLE-CYCLONE UP ABS,DEEP GRY 1
10 DJ61-00435A | CASE-CYCLONE UP ABS,DEEP GRY 1
11 DJ64-00217A | KNOB-PIPE ABS,DEEP GRY 1
12 DJ67-00263A | CAP-KNOB ABS 1
x A/S= e :Service Available
4-6 Assembly-Accessory
T 4
‘ !
| |
1—! i
‘ i
L1 1-2 1-3 1-4 |
- Accessory Parts List
LocationNo.,  Code No. Description Specification Q'ty | A/S |Remarks
1 DJ99-00030A | » ooy ACCESSORY DUSTING+GAP+UPHOL 1
DJ99-00030B DUSTING+GAP+UPHOL
11 DJ67-60149D | BRUSH DUSTING-ASSY PP,DEEP GRY 1 °
1-2 DJ67-00112C | BRUSH-UPHO ASSY ASSY,DEEP GRY 1 °
13 DJ61-00254A | HOLDER-ACCESSORY ABS,L88.5,DEEP GRY 1 R
DJ61-00258A | HOLDER-ACCESSORY H ABS,L50,DEEP GRY
1-4 DJ67-50153C | PIPE-CREVICE PP,DEEP GRY,L195 1 °
2 DJ67-00204A | BRUSH-HARD FLOOR PP+ABS,DEEP GRY 1 °
x A/S= e :Service Available
SAMSUNG ELECTRONICS CO., LTD 14




